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Must return this booklet alongwith your Answer Scripts.
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1. Z Co. has two departments: D1 and D2. D1 is a production center and D2 is a revenue 02
center. D1 cost records show the following:
Description Cost (Rs.)
Direct Material (Rs. per unit) 5
Direct Labour (Rs. per unit) 3
Fixed costs (in total for an year) 2000
D1 produces 1000 units in total for a year and can sell the units at a price of Rs. 15 per unit
in market. Z Co. uses full cost plus pricing method to determine transfer price. A Markup
of 10% must be earned on cost by D1.
Determine the appropriate Transfer Price (in Rs.) that Z Co. should use for D1.
a. 18
b. 8
c. 11
d. 10
2. A Co. took over the management of B Co. in a successful takeover. As the first step the 02

management of A Co. went through the management information of B Co. to plan its
future, however they found it to be quite difficult to understand and realized that the
information is of limited use to them, making them establish a new management
information system at B Co. similar to that of A Co.

Identify which limitation of management information did A Co. face?

Based on both Financial and Non-financial Data
No set formats or rules

Provides Data only

g o TP

Expensive to produce
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3. Y Co. is producing its monthly cash budget for the month of November and sales are 02
made as follows:
Sales
Month
ont (Rs. 000)
September 50
October 40
November 60
December 70
50% of all sales are ‘Cash Sales’ while the other 50% are ‘Credit Sales’. Receipt schedule
from Debtors is made as follows:
In the month of Sale 50%
In the following month after that of Sale 30%
In the second month following that of Sale 10%
Bad Debts 10%
Determine the Cash Receipts in Rs. that are expected by Y Co. in the month of
November.
a. 50
b. 65,000
c. 535
d. 53,500
4. The management of P Co. (part of a large multinational group) has recently found out a 02
trend of falling sales and it has now become concerned about its breakeven sales revenue
that it must achieve in order to protect itself from a loss. The Selling Price of the product
made is Rs. 40 and the wvariable cost is Rs. 20. Fixed costs amount to
Rs. 50,000.
Calculate the Breakeven Sales Revenue.
a. Rs. 50,000
b. Rs. 100,000
c. Rs. 80,000
d. Rs. 75,000
5. F Co. is considering a project that will have incremental costs of Rs. 50,000 and revenue 02

of Rs. 100,000 is expected under the current circumstances. A research report was made
by another firm for F Co. to find these expected costs and returns; this feasibility report
was made at a cost of Rs. 10,000.

The cost of the feasibility report in relation to the decision of whether to accept or
reject the project is:

Committed Cost

Relevant Cost

Sunk Cost

Incremental Cost

e o T
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A company has budgeted to sell 10,000 units in a year and is considering after the recent 02
rumor that has been out against our product to assess the margin of safety that they have
in units until it incurs a loss. Selling Price of a unit is Rs. 20 and the variable cost per unit
is Rs. 15. Fixed cost of the company is Rs. 25,000. Calculate the margin of safety in units
of the company.

a. 5,000 units

b. 15,000 units

c. 2,500 units

d. 3,000 units
A company operates in the automobile sector producing economical petrol fuel cars in = 02
the country of A-land. The competition in this sector is tough and there are a lot of
competitors that are producing similar cars. The main selling point in this type of market
is if the products made are inexpensive yet provide basic car functions.
What type of pricing strategy is the most appropriate in such an environment?

a. Price Discrimination

b. Price Penetration

c. Price Skimming

d. Supplementary Pricing
A company makes a product ‘Olex’ which takes Rs. 5 per unit variable cost to make and 02
sells for Rs. 10 per unit. The company’s research department has come up with a
processed version of ‘Olex’ called ‘Olex Active’ which can be sold in the market for
around Rs. 23. The processing of ‘Olex’ into ‘Olex Active’ however will take around Rs.
19 as variable cost to make.
Identify the two values which will be compared to make the decision.

a. Rs. 5 with Rs. 10

b. Rs. 10 with Rs. 23

c. Rs.5with Rs. 19

d. Rs. 13 with Rs. 14
A company uses relevant costing to cost its projects. The craftsman at the company was 02
hired at a salary of Rs. 25,000 per month. A new project has been offered to the
company which will require two weeks of a craftsman time. The current craftsman only
have a week's time as spare capacity. For the other week the company can make him to
do over time by paying him one week salary extra for compensation or the company can
hire a new person altogether but will have to keep him hired at least for a month, the
spare capacity is because the company does not need more of a craftsman’s time.
Calculate the relevant cost of the two week time of the craftsman on this new
project.

a. Rs. 10,000

b. Rs. 6,250

c. Rs. 13,000

d. Rs. 12,500

Contd.....

©)




10. A company has a fixed cost of Rs. 500,000 and the management wants to know the margin 02
of safety units (in %) from their normal production level of 200,000 units. Selling price is
Rs. 10 per unit and the variable cost is Rs. 5 per unit.
Calculate the Margin of Safety units (in %).
a. 25
b. 30
c. 50
d. 100
11. Boar Co. produces high quality leather products from hides of boar like bags, shoes and

jackets. It has been very successful in its operations in the country of BeeLand, however
due to the heavy expansion in the company there have been some operational issues the
directors are informed about. Directors believe that issues without numbers are not
observable and can not be solved. They have hired you as the management consultant to
calculate the ratios which will help the directors understand the issues company has been
facing. The Financial Statement extracts are shown below:

Statement of Profit and Loss

Rs. (000)
Revenue 200
Less Cost of Sales (180)
Profit Before Interest and Tax 20
Interest (15)
Profit Before Tax 5
Tax 2
Net Profit after Tax 3

Statement of Financial Position

Rs. (000)

Non-current Assets

Property, Plant & Equipment 400
Current Assets

Inventory 24

Receivables 5

Cash & Cash equivalents 4
Total Assets 433
Equity

Ordinary Share capital 300

Retained Earnings 3
Current Liabilities

Payables 30
Non-current Liabilities

Debentures (15% p.a.) 100
Total Equity & Liabilities 433

(4)




Required:

Calculate the following Ratios and identify the potential problems that exist within the

Company and highlight those potential problems as needed to be investigated on.

Description

Calculation

Needs to be Investigated (Yes / No / Can’t Say)

Acid Test Ratio (times)

Interest Cover (times)

Gearing Ratio (%)

Inventory Turnover (days)

01

01

01

02
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Q.1. Gee Co. operates in the country of Geostan manufacturing home gardening equipments
through its 3 factories operating in different parts of the country to help with the
effectiveness of supply chain. However in recent years the home gardening equipments are
being heavily imported because of them being cheaper even though they are of much lower
quality than Gee Co’s products. The operating results of the 3 factories are as follows:

Factory A | B ‘ C
Rs. (000)

Sales 500 400 300
Cost of Sales (300) (300) (100)
Gross Profit 200 100 200
Variable Operating Costs (100) (50) (50)
Fixed Operating Costs (20) (20) (20)
Operating Profit 80 30 130
Apportioned Head Office Cost (50) (50) (50)
Net Divisional Profit 30 (20) 80

Gee Co. is considering shutting down Factory B because of the loss it is incurring.
Required:
(@  You are the management accountant of the company and have been asked by the 06

Directors to give your opinion based on the above results whether shutting Factory
B down is the best possible solution in terms of financial performance only.

(b)  What are the other factors that the company must consider other than Financial =~ 02
which can possibly affect this decision?

Contd.....
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Q.2. BLoL Co. is in the process of making its annual budget for the coming period and the
following information is relevant to the process. The functional budgets are first needed to
be made before the master budgets.

Description Units or kg or Rs.
Sales Budgeted (units) 100,000
Selling Price Rs. 50 per unit
Material (kg) per unit 10 per unit
Material Price per kg Rs.5
Opening Inventory of Finished Goods 10,000 units
Budgeted Closing Inventory of Finished Goods 12,000 units
Opening Inventory of Raw Material 150,000 kg
Budgeted Closing Inventory of Raw Material 120,000 kg

Required:

Prepare the following budgets in the sequence that is the most appropriate:

(a) Production Budget 02

(b) Finished Goods Inventory Budget 01

(c) Sales Budget 01

(d) Material Purchase Budget 01
Q.3. K Co. specializes in producing Roya, Echo & Vox. It uses the same raw material for both of

them called Birset. The company has been very successful in meeting the demands of all

three products and the following information has been produced by the management

information system at the K Co.

However, recently the K Co’s supplier for Birset have received an abundance of customers

and the supply of the raw material has been limited that has affected K Co.’s production,

even though the distribution channels are strong production of all of them is not possible

now. K Co. is thinking about getting one of the products from another supplier and then

selling it at a margin to the customers. Birset costs Rs. 2 per kg.

Costs Product

Roya Echo Vox
Direct Material (Rs.) 5 6
Direct Labour (Rs.) 3 2
Variable Overheads (Rs.) 2 3
Selling Price 18 20 25
Buy in cost 13 15 20

Required:

(@ You as the management accountant need to determine which will be the best product 04
for K Co. to make itself and which of the products need to be bought in from another
supplier.

(b) Budgeting is a great way to make plans before taking any actions, explain how 03

budgeting could have helped with situations like the one K Co. faced.

Contd.....

()




Q.4. R Co. works as a portfolio management company for a number of investors, who required
different types of returns from the money they have invested. All of the investors are
concerned about payback and net present value of the investments, as it delivers the ease of
mind if these investment appraisal techniques approve the investments. R Co. believes that
delivering the high quality service of excellent returns to investors is what can build up for
the sustainable future.

There is one such investment which would bring cash flows to the company for an
indefinite period. Company is not sure of how to apply the different investment appraisal
techniques on such an investment and has required you, the new management accountant to
assess payback and net present of this investment. The investment has the following cash
flow schedule:

Year Cash Flows (000)
0 (200)
1 50
2 100
3 100
4-00 25

Required:

You as the new management consultant are required by the Directors to calculate the
following assuming that the Weighted Average Cost of Capital (WACC) of the R Co. is
10%:

(@ Simple Payback Period (Years & months)
(b) Discounted Payback Period (Years & months)

(©) Net Present Value (to the nearest Rs.)

01
15
2.5
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1. Under which of the following circumstances the auditor’s independence would be affected? 02
e. When the auditor has financial interest, business interest or personal relations
with the client
f.  When the auditor provides non-audit services to the organization
g. When the auditor utilizes client information to obtain personal benefits
h. All of the above
2. Which of the following options are not the primary responsibilities of an external auditor? 02
(i) Verification of every transaction carried out by the organization
(i) Detection and prevention of fraud and errors
(i) Ensuring compliance with laws and regulation
(iv) Providing an opinion that the financial statements are accurate
a. (i), (i) and (iii)
b. (i), (i) and (iv)
c. (i), (i) and (iv)
e. (i), (i) and (iv)
3. If an auditor comes across a situation where he has reason to suspect that fraud has taken 02

place, he does not ignore this situation but investigate it. Which principle of external audit
engagement has the auditor adhered to?

Professional Judgment

Professional Skepticism

Performance of the audit in accordance with ISAs

o oo

Sufficiency and appropriateness of Audit Evidence
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Which TWO Of the following are sections that would appear in an engagement letter?
(@) Responsibilities of Management
(i) Materiality level for the audit
(i) Significant audit risks
(iv) Basis of the fees
(i) and (ii)
(i1) and (iii)
. () and (iv)
. (ili) and (iv)

S0 oo

02

When the auditor is unable to obtain sufficient appropriate audit evidence that is material to
the Financial Statements as a whole, the auditor issues:

e. A Disclaimer of Opinion

f. An Adverse Opinion

g. A Qualified Opinion

h. An Unmodified Opinion

01

The auditor has a duty to report on the deficiencies of internal controls to:

e. Sharcholders

f. Management and those charged with governance
g. The CEO

h. The Chairman

01

Events occurring between the date of the Financial Statements and the date of the auditor’s
report and facts that become known to the Auditor after the date of the auditor’s report are:
e. Adjusting events
f. Non-adjusting events
g. Subsequent events
h. None of the above

01

Financial Statements are a summary of:

e. Management’s assertions

f. Internal auditor’s assertions
g. External auditor’s assertions
h. Shareholdet’s assertions

01

Which of the following options are not common benchmarks used to compute materiality?

1% of revenue, 5% of profit before taxation and 1% of total assets

a

b. 0.5% of revenue, 10% of profit before taxation and 2% of total assets
c. 1% of revenue, 10% of profit before taxation and 2% of total assets
d

. 5% of revenue, 10% of profit before taxation and 2% of total assets

02

2




10.  State which of the following statement is incorrect: 02
e. Substantive procedures are to be conducted irrespective of the results of
the tests of controls
f. The extent of substantive procedures is determined on the basis of
results of tests of details and analytical procedures
g. The extent of substantive procedures is determined on the basis of
results of tests of control and analytical procedures
h. Substantive analytical procedures are suitable when there is a large
volume of transactions which tends to be predictable
11. If acceptable audit risk is 10%, assessed inherent risk is 20% and assessed control risk is 02
40%, what level of detection risk is acceptable to the auditor?
a. 50%
b. 200%
c. 125%
d. None of the above
12. In order to remove the Auditor, which of the following is required? 01
a. Consent of all shareholders
b. Statement of Circumstances
c. Consent of all Board Members
d. All of the above
13.  Which of the following principles ate identified by the auditors’ Code of Ethics? 02
@) Integrity and objectivity
(i) Professional competence and due care
(i) Confidentiality and professional behavior
(iv) Probity and neutrality
a. (i), (iii) and (iv)
b. (i), (i) and (iv)
c. (i), (i) and (iv)
d. (i), (i) and (iii)
14.  Which of the following correctly describes a written representation? 02

a.

b.

d.

A written statement by management provided to the auditor to confirm
certain matters or to support other audit evidence

A written communication from the auditor to the client stating the
terms of engagement before the appointment is accepted

A form of written evidence given by the parent company to the
principal auditor, which would allow the auditor to conclude that the
subsidiary is a going concern

A written communication by the auditor to the management stating the
significant deficiencies and the actions to be taken to remove them in
the future to make the system more effective

Contd.....
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15.  Which of the following are not the elements of an assurance engagement?
a. A three party relationship involving a practitioner, a responsible party
and intended users
b. A suitable subject matter
c. Suitable criteria
d. Compliance with Code of Ethics

02
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Q.1. (¢) What is Planning Materiality? Explain whether the auditor can revise planning
materiality during the course of audit.

d) What is meant by the term audit risk and how is it used to decide the extent of audit
y
procedures to be applied by auditors?

(e) Adam Co. makes cheese and sells it locally as well as in foreign markets. Red LLC
has recently been hired as auditors and has collected the following details about the
business:

Adam Co. has recently spent a substantial amount on repairing its main production
plant in order to modernize it. The Finance Director is unsure on how to deal with
the expenditure in financial statements. To raise finance for these repairs, a 5-year
loan was raised from a bank and the entire amount has been booked in non-current
liabilities.

Red LLC has identified several items in inventory that were expired and have not
been provided for in financial statements. Since competition has increased in recent
years, revenue has fallen drastically over the past year leading to doubts about the
company being a going concern.

Required:

Identify and explain FOUR MATTERS that increase audit risks for Red LLC.
Mention how these matters would affect financial statements of Adam Co.

Q.2. (a) Welders Co. has recently incurred a significant amount of capital expenditure
resulting in a depreciation charge of Rs.570,000 during the year ended
31" December 2015. The auditors, during the audit procedures calculated
depreciation charge as Rs.750,000 and have asked the management at Welders Co. to
adjust financial statements which they have refused. Profit before tax for the year
was Rs.2,975,000.

®)




Required:

. . . . . 02
Explain the impact on Financial Statements of the treatment of depreciation.
(b) Outline audit procedures, other than recalculation that the auditor can use to confirm 02
depreciation on assets.
(c) If management refuses to amend Financial Statements, what would be the impact on 02
the auditor’s report at yearend?

Q.3. Pedro Plc. has been auditing Rob Inc. for five years however, during the audit of the year
ended 31" December 2015, Pedro has experienced some issues in confirming the receivable
balance.

Confirmation letters were sent for several balances, however most of the letters have not
been replied to. Pedro is now considering alternative procedures to confirm the receivable
balance.
(¢) Outline procedures, other than circularization, used to confirm the receivable balance. 02
(d) Rob Inc. has invested a substantial amount in the addition of plant and equipment to 03
modernize its production process.
State the audit procedures that can be applied to confirm additions in non current
assets.
() Auditor’s evidence must be sufficient and appropriate, state the factors that can affect 04

sufficiency of audit evidence.
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